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2)  (Secondary data)   
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          1. Logit model 

11  

= (GENDER,AGE,CAREER,INC,MARRIED 

                                                                                  EDU, HOOD,DISTANCE,BUDDY 

                                                                                  VECHICLE,EXPENDITURE) 
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Yi = 0  + 1GENDERi + 2AGEi + 3CAREERi + 4INCi + 5MARRIEDi 

   + 6EDUi + 7HOODi  + 8DISTANCEi + 9BUDDY i  + 10VEHICLE i                         

    + 11EXPENDITUREi +   ei 
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EDUi                          i 
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HOODi            i 
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DISTANCEi    ( ) 
 

BUDDYi           

 

 BUDDY1       = 1                  

                       = 0            
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VECHICLEi       
       

 VEC1              = 1                                          

                        = 0            
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 VEC4               = 1                
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